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GENERAL MATHEMATICS SSC-li
SECTION — A (Marks 15)

Time allowed:; 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /! D. Each part carries one mark.

(1)

(1)

(i)

(iv)

(v)

(vi)

(vii)

(x)

(xiii)

{xiv)

(xv)

An algebraic expression is of types.

A 2 B 3 C. 4 D. 5

A surd is a/an number that contains a radical sign.

A Rational B. trrational C. Even D. Integer
A pelynomial of degree '2’ is called pclynomial.

A. Linear B. Cubic C. Quadratic B Irrational

H.CFof 12pq , 8p°gis:

A. 4pg B. 4p'q* C. 4 py’ D. 4p’q
Ifx > y then (~2)x (-2)y.
A > B. < C. = D. =
Factorization of x* ~16 is:
A (x—=2)x+2) B. (x—2)Wx+2%x-4)
C. (x—2)x+2)x +4) D. (x—2)
300

A=10 3 0lis matrix.

00 3
A. Rectangular B Identity C. Scalar D. Null
(ABY ' = .
A B! B. A'ET C. AB D. 487
From figure value of xis:
A. 30° B. 45" .
C. 120° D. 90" g a5

Angle in a semi-circle is of.

A. ()0(1 B 60(1

C. 307 D. It is different for each circle
The number of angle bisectors in a triangle is/are:

A 1 B. 2 C. 3 D. 4
(—2.3)lies in quadrant.

A 1st B. 2nd C. 3rd D. 4th
Volume of cone =

A T h B. %ﬁrzh C. Tt D. Lar

Points lying on same line are called:

A None-collinear B. Collinear C. Equal D. Qverlapping
An arc greater than semi-circle is called:

A, Minor arc B. Chord C. Major arc D. Diameter

For Examiner’s use only:

Marks Obtained:

Total Marks: E
]
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GENERAL MATHEMATICS SSCHII

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Attempt any NINE parts from Section ‘B’ and any FOUR questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 36)
Q.2  Attempt any NINE parts. All parts carry equal marks. (9x4=36)

3

(i) It P(y) =y +-%;— y* +1,thenfind p(y)fory=-2.
(iD) Find the value of &’ —b’when a-bh=4and ab=-5.

I
(iii) = J10 + 3 then evaluate

2 N2
|
a, (P + i b. [P - —J
P P
(iv) Factorize x* + x? +1
v) Factorize 8x° L
27

vi) Use Factor Theorem to show that (x + 1) is not a factor of 2x° —5x —x+4
&4 4 & 6

(

(vij  Find H.C.F by factorization x> —y* ., x'—3"', x" -y
(viii)  Solve and check +/3x+4 =7
{

ix) Solve the inequality and represent it on number line x —7<5—2x where (x&R)
(x) Solve by completing square method ¥ —6x-3=0
Solve by using quadratic formula 10x? —5x =13
(xii) Find w,x,y and z such that {w x} +[ . Oji = F ! }
y oz |-t 5] |6 -3

1 si[p] |35
(xiii) If = then find value of a and b.
3 all?7 10

0 i . L
(xiv) Find the inverse of matrix A u{ } and show that A~ 4 = I, if inverse does not exist, give reason.

SECTION — C (Marks 24)

Note: Attempt any FOUR questions. All questions carry equal marks. (4 x 6 = 24)

x’—5x  x?-25

Q.3 Simplif s —
P x—1 x +x+20

Q4. Find the square root of x(x +2)}x+4)x+6)+16
Q5. Use Cramer's Rule to soive the simultaneous equations. Give the reason if solution is not possible:
2x+y=1, 5x+3y =12

Q6. Draw an equilateral triangle each of whose side is 5.3 cm. Draw its medians. Are they equal?

Q7. The Area of square playground is 4500m”. How long will a man take to cross it diagonally at the speed
of 3km per hour.
Q8. Show that the points A(6,1), B(2,7)and C(-6,—7)are vertices of a right triangle.
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